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Magnetic Field & Force

1. A current carrying rectangular loop PQRS is made of uniform wire. The length PR =QS =5 cm and PQ=RS
= 100 cm. If ammeter current reading changes from I to 21, the ratio of magnetic forces per unit length on the

wire PQ due to wire RS in the two cases respectively (f;Q o ) is:

T% PQRS gRMEE SMIATHER UTeT 6F U GAM IR A 99137 & | o s PR=QS=5cm @amPQ=RS=100cm |
IfE 3rfIe” gt &1 uradid [ 9 21 7 g8afdn €, df aR RS & RO R PQ WR ufieras & o dal &1 gurd

(f;Q :f;(g) g

p Q
I A
—>— ——>—7)—o
R S
(1)1:2 2)1:5 (3)1:3 4)1:4

Question ID: 3666942403
Ans.  Official Answer NTA (4)
Sol.  Force between two current carrying wire

_ KoLl <L
2nd

Here I, & I, are equal

12

F=Ho o
2nd
FocI?
F_r 1
F, 417 4

21

Communication Systems

2. Match list I with listII :
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List I List IT
) 1. Combination of a receiver and
A. Attenuation )
transmitter.
II. Process of retrieval of
B. Transducer information from the carrier

wave at receiver

III. Converts one form of energy
into another

IV. Loss of stregnth of a signal
D. Repeater while propogating through a

C. Demodulation

medium.
Choose the correct answer from the options given below :

G- L1 < 1< e

List1 ListII

A. g 1. TEED I 39 o RIS

. 1. TEiEe W BRER TR G &l
o T HTT o <t et

C. fariged 111 35T & Ue o ot SN H e
IV, Ueh 1 A Rl & QR
et bt gifa e

S o T et 9 W IR

(1) A-Il, B-III, C-IV, D-I (2) A-1v, B-III, C-I, D-II
(3) A-1V, B-III, C-II, D-I (4) A-1, B-II, C-lII, D-1V

D. ez

Question ID: 3666942398

Ans.

Sol.

Official Answer NTA (3)
Theoretical attenuation — (IV)
Transducer — (III)
Demodulation — (II)

Rpeater — (1)

Kinematics Motion in a Straight Line

3.

A vehicle travels 4 km with speed of 3 km/h and another 4 km with speed of 5 km/h, then its average speed is
& ags U 4 fH. @ 3 km/h @) a1el 91 G2 399 4 km &1 5 km/h @) 91a & FofdT € 99 39! i a1l &
(1) 3.50 km/h (2)4.25 km/h (3)3.75 km/h (4)4.00 km/h
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Question ID: 3666942397

Ans.  Official Answer NTA (3)
2 1.1 38
Sol. N 73757
15
=V, =—-=3.75 km/h
Nuclear Physics
4. Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The nuclear density of nuclides "B.S Li,) Fe,;p Ne and ;’Bi can be arranged as

926 °10

Pii > Pre > Pre > Py > P
Reason R : The radius R of nucleus is related to its mass number AasR =R | A'?, where R, isa constant.

In the light of the above statements, choose the correct answer from the options given below

(1)Ais false but R is true

(2) Aistrue but R is false

(3) Both A and R are true and R is the correct explanation of A

(4) Both A and R are true but R is NOT the correct explanation of A

A2 &1 P AU T E | UH B SIFHT A Td SR BT IR R FT T 2 |

afrmer Az B¢ Li, Fe,js Ne @@ ;2 BiTifya! & fag B &1 71 goR gafRerd far o |adr 2 |
Pri > Pre > Pxe > P > Py

HRUT R : A #3507 R 39 g W@ AW 74 R weitid € R=R A, &€l R & i €|
SIS Pl & Heod #, el & T faspenl | AEl 7R A

(DA 21 g R¥ET 2

(2)AwE 8| g RTera g

(3)Avd R 3l &1 € M A @l we! e R 2

(4) Awd R 31 & | @ A @) 98! @renn R 981 21

Question ID: 3666942408

Ans.  Official Answer NTA (1)

Sol.  Nuclear density is independent of A.

FElasticity

5. Aforce is applied to a steel wire 'A', rigidly clamped at one end. As a result elongation in the wire is 0.2 mm.
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If same force is applied to another steel wire 'B' of double the length and a diameter 2.4 times that of the wire

'A', the elongation in the wire 'B' will be (wires having unifom circular cross sections)

VWA & TR A R TS g6 AR A1 ST & Rt Ue fA-1 58 MR 0= 987 & | IR 3 gRom fiRR 0.2 mm § |
I TR VWId & IR B R G9H 9 RIMNT X ! ofwrg aR A9 &1 A1 21 @19 2.4 41 8, IR B &1 fiwR
BT (ARI & JRITHR UK URTSE Yb FH 8):

(1)3.0 x 102 mm (2)2.77x102mm  (3)6.9 x 102 mm (4)6.06 x 102 mm
Question ID: 3666942393
Ans.  Official Answer NTA (3)

FL
AL =—
Sol.  We know AY
_ FLI _
AL, = AY =0.2mm (D)
_FL,
AL, = AY 2)
Equation (2)/(1)
AL L A
AL, A, L,

T .2
AL, 2L ¢

= x
AL, %(2.4d)2 y

AL,=0.06944 mm = 6.944 x 10> mm

Gravitation

6. An objectis allowed to fall from a height R above the earth, where R is the radius of earth. Its velocity when it

strikes the earth's surface, ignoring air resistance, will be
Qe A% DI gl Il F R a8 $WR A FREr S 8 | S7&f R yedl 1 31 8 | 9y 1 9foRie 970y q1ax gl 4o
CHERI T BT I BITT:

R
(1) 2y/gR (2) 2R 3) \/% (4) JeR

Question ID: 3666942394
Ans.  Official Answer NTA (4)
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m' e A
Re
B
Sol.
By energy conservation, PE, +KE, =PE, +KE,
~GMm  ~GMm 1 ., GMm_1 .,
2R 2 2R 2
GM 2
V’/Tj We know GM =gR?>= V = % = V=,gR
KTG & Thermodynamics
7. A flask contains hydrogen and oxygen in the ratio of 2 : 1 by mass at temperature 27°C. The ratio of average

kinetic energy per molecule of hydrogen and oxygen respectively is :
Th D ¥ 27°C YA WR S & AR W gglo g Ao 2 @ 19 rgurd # ¥ 2 | g1gglor g fadior
31 IR 1] Sad TSt Hot BT AT &
(H1:1 2)2:1 3)4:1 4)1:4
Question ID: 3666942400
Ans.  Official Answer NTA (1)

f
Sol.  K.E. permolecule = (EKTJ

average(K.E) yopen T

hydrogen __ 1

average(K.E) f

oxygen oxygen
Units & Dimensions

8. Match list I'with listII :

List I List IT

A. Torque IL.Kgm 's
B. Energy density 1. Kg ms '
C. Pressure gradient |[[I. Kg m?s
D. Impulse IV.Kgm® s~

-2

-2

2
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Choose the correct answer from the options given below :

A Lot g 119 fem

List I List IT

A. 3 arTepoi LKgm's?
B. i@ II.Kgms '

C. g9 ygurdn 1. Kg mZs?
D. g IV.Kgm” s’

A7 f W el ¥ 98 IR g
(1) A-IV, B-I, C-11I, D-1I
(3) A-IV, B-III, C-I, D-II

Question ID: 3666942391

Ans.  Official Answer NTA (1)

Sol.  Torque > kgm?s? (IV)
Energy density > kgm™"s? (I)
Pressure gradient — kg m= s (III)
Impulse > kgms'  (II)

Alternating Current

9.

In the given cicuit, rms value of current (I ) through the resistor R is :

fer 1 gfRuer # uferler # @& arell e 1 o3 Area we wH (1) &

X, =200Q2 X.=100Q

(2) A-IV, B-I, C-II, D-II
(4) A1, B-IV, C-III, D-II

— U000 | MWW/
R =100Q2
(A
N\
V.. =20082V
1
(1)2A (2) 3 A 3) 242A (4) 20A
Question ID: 3666942404
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Ans.  Official Answer NTA (1)
Sol.  z=4/100% +(200—100)

=100+20Q

oV 20042

™z 10042

=2A
Semiconductors
10.  Theoutput Y for the inputs A and B of circuit is given by

A —

Input Y = Output

v

B —-

Truth table of the shown circuit s :

gRuer & fader Ad B oy farfa Y fear mar 21

A —
Input Y = Output
¥
B —
EEQT@W?IE?%H@IH IR 7
A Bl|Y A B|Y A B
0 0]0 0 0]1 0 0
0 1]1 0 11]0 0 1
My o] @1 00 SUSE
1 110 1 1)1 1 1

Question ID: 3666942409

Ans.  Official Answer NTA (1)

Sol.  Given circuit represent XOR.
Electrostatics

11.

A B|Y
0 0]1
0 111

@1 0l
1 100

As shown in the figure, a point charge Q is placed at the centre of conducting spherical shell of inner radius a

and outer radius b. The electric field due to charge Q in three different regions I, [l and Ill is given by :

(I:r<a,ll:a<r<b,ll:r>Db)
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feamd T 3 & IR el AT DI & s IR Q MY 97 & Roras! am=aRes o1 a vd are) = b g | A9
arert I, 11 1 &t 3 3y & R

(I:r<a,ll:a<r<b,ll:r>Db)

I
(1) E,#0,E;,=0,E; #0 2)E,#0,E,=0,E;; =0
(3) E1 = 09EH = O’EIII =0 4) EI = 09EH . O’EHI #0

Question ID: 3666942399

Ans.  Official Answer NTA (1)

Sol.  Electric field inside conducing material is zero.

Electromagnetic Waves

12.  Apoint source of 100 W emits light with 5% efficiency. At a distance of 5 m from the source, the intensity

produced by the electric field component is :

100W &1 U fawg Fd 5% S&rl I Uobrel IcAMid A1 & | Tiid 9 Sm 31 g9 W, g4 & gecdh g\ Al &

1 1 W
@ o me @ Zorm? G i m @ Tor m®

Question ID: 3666942405
Ans.  Official Answer NTA (2)

5
Sol.  Total power emitted =100x 100 SW

. Power
Intensity =

ca

5 I W

4 x5? 207 m?

1 W 1 W
This intensity is due to both electric & magnetic field so, due electric field =1/2x onm . A0m e

Simple Harmonic Motion
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13.  Forasimple harmonic motion in a mass spring system shown, the surface is frictionless. When the mass of the

block is 1 kg, the angular frequency is o,. When the mass block is 2 kg the angular frequency is o,. The ratio

(;;)2/0;)1 is

T AR AT T R 3§ U ged— R awer &l ysRia f6ar & [T ad auvr (2 2 | e 3T G| ™
lkg, € W BT SgRT o, 8 | 56 s8T1 GA 2 kg BT @ Bl 31gedl o, 8 | 31U 0,/0, &

1
135 ()2

Question ID: 3666942410
Ans.  Official Answer NTA (4)

Sol o)z\/gzxy)ocL
oL m Jm

o, _ &_\ﬁ
o, m, 2

COM, Momentum & Collision

Block
11111111585 8880018881

1
ONG Oy

14. A machine gun of mass 10 kg fires 20 g bullets at the rate of 180 bullets per minute with a speed of 100 ms™!

each. The recoil velocity of the gun is

10 kg s@@= &1 v 729 9 & 20 g &1 Miferai 180 el ufay fae @1 av | 100 ms™! @1 o F91+ =1el | a1

ST & | 9 BT UgEiTHl O e

(1)0.6 m/s
Question ID: 3666942395
Ans.  Official Answer NTA (1)

(2) 1.5 m/s

(3)2.5m/s (4)0.02 m/s

Sol.  Momentum of bullets per unit time

180 % 20
1000

x100

kg m/s?

60
=6N

= Forceongun=6N
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We cannot calculate recoil velocity with the given data.
If we consider recoil velocity att =1 s, then

v

recoil

=u+at
:0+£><1
10

=0.6 m/s

Geometrical Optics

15.

A thin prism P, with an angle 6° and made of glass of refractive index 1.54 is combined with another prism P,
made from glass of refractive index 1.72 to produce dispersion without average deviation. The angle of prism
P is

1.54 syoac=ies G 6° BV & Bl A 9 Ueb Yool forsd P, a1 {411 3iaq farerefs & faaivor Sca=1 Bee g g wref
U 1.72 SuacHie o1 Hia BT guRT U P Siret S € | s P &1 &I &:

(1) 6° (2)7.8° (3)1.3° (4)4.5°

Question ID: 3666942406

Ans.

Sol.

Official Answer NTA (4)
8, =38, [for no average deviation]
=6°(1.54-1)=A(1.72-1)
6°%0.54
0.72

= A=

By

Newton's Laws of Motion

16.

Ablock of /3 kg is attached to a string whose other end is attached to the wall. An unknown force F is
applied so that the string makes an angle of 30° with the wall. The tensionis: (Giveng=10ms?)

3 kg &1 g gt § qfer 721 8 Rt v RRT AR | ST 8 | UE T a6 SR SR IR SN SR @ ey
30° &7 HIor g9 | a9 a T2 (Ram & g =10 ms?)
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J3 kg

(1) 15N (2)20N (3) 10N (4)25N
Question ID:3666942396
Ans.  Official Answer NTA (2)

Sol.

0 =30°

Vg

cosf=——=
T
2 T
=T=20N
Dual Nature of Radiation & Matter
17.  Anelectron accelerated through a potential difference V| has de-Broglie wavelength of ), . When the potential

V,
is changed to V, its de-Broglie wavelength increases by 50%. The value of [Vlj isequal to

2

V, faar=R gRT R Ve getag ™ @ Si—aiTell a¥T @&l ) 8 | o1d fawd geeer V, & f&ar S df gie! Si—siell
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v
et 50% 98 Wl B (—IJWWW%

VZ
1)3 2 2 3)4 4 Kl
() @ 3) )3
Question ID:3666942407
Ans.  Official Answer NTA (2)
50

AM=AA, =A+Ax—=1.5A
Sol. | ) ><100

S
pely eSS (1

2meV )
1 vV, 2 v, v, 9
A= —= [ —= [ > —=—
JV s v, 3 Y, VY, 4

KTG & Thermodynamics
18.  otherislabelled as Reason R
Assertion A : Efficiency of areversible heat engine will be highest at -273° C temperature of cold
Teseroir.
Reason R : The efficiency of Carnot's engine depends not only on temperature of cold reservoir

T
but it depends on the temperature of hot reservoir too and is given as 1= [1 - ?2} .
1

In the light of above statements, choose the correct answer from the options given below

(1) Both A and R are true but R is NOT the correct explanation of A.

(2) A is false but Ris true.

(3) Both A and R are true but R is the correct explanation of A.

(4) Aistrue but Riis false.

I | B AT Y € | U Bl e A Td 8 BT HROT R &8l 19 2 |

affgmeT A : 38 S HSR & -273° C AN W IEHAUNT ST S 1 AT AfADHHT B |

BRI R : HRAT IO BT &I T Bdel S8 SHH HSR & drod IR R el & dol I8 T ST

T

1

T
TR & qroae W ) flk o=l 21 Tl:[l‘_zJ |
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SIS Pl & e #, el & T fasenl A HEl 7R A
(1) Awd R |81 & qem A3 92! @ R 78 2 |
(2) A7ed & g R¥E 8 |
(3) Avd RaH w&! € @ R @) w&1 @ R 2|
(4) A w8 & we=g RwTera 2|
Question ID:3666942392
Ans.  Official Answer NTA (3)

sink

T

source

Given that T, = —273°C=0K

Sol. n=1-

0
n T n
So, efficiency ismaximumat T, =-273°C
Current Electricity

19.  Theequivalent resistance between A and B is

A3 B §rg aagen ARy &

1.5Q 0.5 Q

120
AWy

A o—o, 8Q 40 L op

2Q

10 1Q

1 3 2
—Q =Q =Q —-Q
(1) 5 @3 33 )
Question ID:3666942401
Ans.  Official Answer NTA (3)
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1.50 0.50 Kivl
120 1
8Q 4Q AVAVVVV
—WW—] 16/1002 24100
Al—¢ ! +—B A B
AWy 6Q)
20 . 60 AW
YVYYY
—w———
1Q 1Q : 20
20
———— AW,
4
A AVAVAVAVAV B
60
——————— MWW—————
—
20

L:l+i+l+l+l;Re =2/3Q
R 2 12 4 6 2 a

eq
Magnetic Field & Force

20.  Asshowninthe figure, acurrent of 2A flowing in an equilateral triangle of side 4./3 ¢m . The magnetic field at
the centroid O of the triangle is

fRETg T R & IGER, 44/3 cm : T & GHATE BRIl @1 qorail # g8 arell a%7 2A R, S & % O R g

&3 &
2A 2A
10
2A
(Neglect the effect of earth's magnetic field)
gl & FREGII & BT YA 0T AR
(1) 4/3x10™T (2) 33x10°T (3) 43x107°T 4 Bx107'T
Question ID:3666942402
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Ans.  Official Answer NTA (2)

d
tan30°=——
SOl. 2\/5

1 d
—=—— d=2cm=2x10"m
NERRVNE]
2\/§m
OO
60 A
’ p

Bnet = Bl + B2 + B2 (.)
ButB,=B,=B,=B

Ixpd . .
Between: B = [sin60° + sin60°]

4nd
= M[sin 60° +5in 60°] =33 x10°T
2x10
Calorimetry
21. A faulty thermometer reads 5°C in melting ice and 95°C in steam. The correct temperature on absolute scale
will be K when the faulty thermometer reads 41°C.

U @RTg qroadT feer §% B 5°C @I 919 & 95°C argq= g2iar © | Sfd aroardt 41°C aro9= g2ifar 8 o uv|

UA OR el ITOH BT
Question ID:3666942411
Ans.  Official Answer NTA (313)
Sol.  let the correct temperature be X°C

X-0 41-5
100-0 95-5
= Temperature is 273 + 40 K=313 K

= X=40
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Simple Harmonic Motion

22.  The velocity ofa partile executing SHM varies with displacement (x) as 4v> = 50 —x?. The time period of

X
oscillations is 7 S. The value of x is

(Take = 2}
7

TR At A BRI §Y TP HUT Bl AT 360 fARATAT (x) & 1T 4v? = 50 — x? & rfaR uRafida g 21 <
X 22
BT ITad Bl 7S§|X$rm?r %I(Take“=7)
Question ID:3666942420
Ans.  Official Answer NTA (88)

Sol. 4y =50-x>
or v= %Jsoj
Comparing the above equation with y — i\ /A% — x>
= =% & A =450

1
SO T 5

= T=4nsec
= 4x25ec
7

88
T=—
- sec

sox =88

Work, Power & Energy

23.  Abodyofmass 2 kgis initially at rest. It starts moving unidirectionally under the influence of a source of

1
constant power P. Its displacement in 4s is 3 o’ /Pm . The value of o will be

2 kg @ v avq u # Rer & | P Aard fdd & Sid & uTa A 98 Ua feem # 1 uet aRell 21 4s s faveme

1
§a2«/§mﬁ’r.%| oL BT A BN |

Question ID:3666942413
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Ans.  Official Answer NTA (4)

Sol.  ~mV?=Pt
2
v [P
m
i [am
dt m
2P 21 5nt
X=,—=—|t
Vsl

X = 16VP _ %x 16:/P
o=4

Electromagnetic Induction

24. In an ac generator, a rectangular coil of 100 turns each having area 14 x102m? is rotated at 360 rev/min
about an axis perpendicular to a uniform magnetic field of magnitude 3.0 T. The maximum value of the emf
produced will be V.

(Take = 2)
7

TP YT IR SIE § 100 BRI B IS MITIR BUSell BT 8B [4x 102 m2e ol 3.0 T & vaaas

DY & P odd U 8T @ URa: 360 rev/min ¥ g FRAT € | I (g a8 del BT MDA
V.

(Take = gj
7

Question ID:3666942417
Ans.  Official Answer NTA (1584)

Sol. &, =NABo

=100x14x107" ><3><M
=1584V
Rotation
25.  Auniform disc of mass 0.5 kg and radius r is projected with velocity 18m/s at t=0s on a rough horizontal

surface. It starts off with a purely sliding motion at t = 0s. After 2s it acquires a purely rolling motion (see

figure). The total kinetic energy of the disc after 2s will be J (given, coefficient of friction is 0.3 and
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g=10m/s?).

T 0.5 kg S@ a1 1 B @ §9T Fad! @ t=0 9. IR Ueh Gy dd W 18m/s & ST 4 Bl M 8| t=
09 W I8 Yg bae 0 YRS $RaT1 & | 25 918 Ig Y dlel T 9T 3R ofdl 2 | (s <fRag) 12 9. a1

T BT Gl I Sl S Brf (feam g, ador onies 0.3 vd g = 10 m/s?) |

T2
18 m/s
t=0 t=2s
Question ID:3666942412
Ans.  Official Answer NTA (54)
Sol. —uN=ma

03x05x10=05a

a=3m/s’

Velocity agter 2sec V'=18 -3 x2=12m/s
Kinetic energy agter 2 sec K.E. = 1/2mV? + 1/2 iw?

2 \2
K.E.:%mV'ZJrlmR (lj

2 2 \R

K.E.:lmV'2+lmV'2
2 4

K.E.:%x 0.5x(12)° +i>< 0.5%(12)? =54]

Current Electricity

26.

Ifthe potential difference between B and D is zero, the vlaue of x is 1/n Q. The value of n is

gfe Ba D 9= fowark 91 & @ X &1 99 1/n Q& | n &1 99
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B
6Q) l ' xQ
1Q o
20 *
D
| 1
11
Question ID:3666942416
Ans.  Official Answer NTA (2)
Sol.  Ifpotential difference between B & D is zero it will be work as wheat stone bridge
2XX = 3( xxl )
x+1
2x2 +2x =3x
2x?+2x—-3x=0
2x2—-x=0;x2x-1)=0;x=1/2
X = l = l; n=2
n 2
Electrostatics
2 ~ ~N
27.  Asshownin figure, a cuboid lies in a region with electric field E = 2xi — 4yj+ 6k R The magnitude of

charge within the cuboid is n e, C . The value of nis (if dimension of cuboid is 1 x 2 x 3 m?%).
2 ~ ~N .
yaRfd R E=2X21—4YJ+6kEa@ﬁaﬁﬁwWﬁaﬁ%| BT @ 3aX A% BT ARV ne, C B T

n &1 A (afe wvma o famg 1 x 2 x 3 m?) 2|
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Z A
(0,0,3)
N
> 0,2,0
S 020
(1,0,0)
X
Question ID:3666942415
Ans.  Official Answer NTA (12)
Sol.  Flux through planes parallel to y—Z =2(1)’x Area=2(1)? x2 x 3 =12 Nm?/C
Flux through planes parallel to x—Z =—4(2) x Area=—4(2) x 1 x 3=-24 Nm?*/C
Flux through planes parallel to x —y =0
= Gpo =12-24=-12
_ qenc _
= —12=-" j| qenc |_ 1280
€9
= n=12
Wave Optics
: : L . : Ao .
28.  InaYoung'sdouble slit experiment, the intensities at two points, for the path differences n and 3 () being the
wavelength of light used) are I, and I, respectively. If | denotes the intensity produced by each one of the
I +1,
individual slits, then 1 =
0
: : : : . A A PN
I o fef3rdl T #, &1 fagalt ux <o s 1, 1) € oel verrwr e 173 (), I TBIA Bl TR ¢ |
I +1,
7 e R § oo daen [ weia S g e qe Ty
0
Question ID:3666942418
Ans.  Official Answer NTA (3)
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Sol. I'=1Icos’ (%j

2n A
SO Il = 410 COS2 (ﬁ X Z)

I, =21,

2n A
And 1, =4I, cos’ (ﬁ X EJ

2 0
So I +1, 3
IO
Circular Motion
29.  Astonetied to 180 cm long string at its end is making 28 revolutions in horizontal circle in every minute. The
magnitude of acceleration of stone is ms~  The value of x .(Take T = Ea )
: : 1936
180 cm ol SR & % | e UeerR &St It 3 Ul fAve 28 Faana” o 38T & | IR & @RYT &1 YR s
22
21X H AN 2l (TakeTf=7)
Question ID:3666942414

Ans.  Official Answer NTA (125)

2
28x2n) (1.8
60

2
:(ﬁxzj x1.8
60 7
(44)°
225
_1936x1.8

225
x=125

Sol. a=o’R =(

x1.8
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Nuclear Physics

30.  Aradioactive nucleus decays by two different process. The halflife of the first process is 5 minutes and that of

o
the second process is 30 s. The effective half-life of the nucleus is calculated to be HS . The value of o is

Tah AT Ufded e @1 &9 <7 fafi=T Uehd 7 BIaT 8 | U UhH 1 31 3y 5 AT eI §ER U & 3rgag 30

ﬁ%lmaﬁqﬂﬁaﬁ‘maﬁm%Saﬁmﬂ%laww g |

Question ID:3666942419
Ans.  Official Answer NTA (300)

dN, dN,

=2 N —==-AN
Sol. i . m )
dN
E = —(7\,1 + }\.2 )N
= keq =\ +2A,

11111

=t —=—
t, 300 30 300
2

300
1=

=t =—
'
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